AP STATISTICS – NORMAL DISTRIBUTIONS #2


NAME ______________________________
1. Concrete Thickness.  A roadway construction process uses a machine that pours concrete onto the roadway and measures the thickness of the concrete so the roadway will measure up to the required depth in inches.  The concrete thickness needs to be consistent across the road, but the machine isn’t perfect and it is costly to operate.  Since there’s a safety hazard if the roadway is thinner than the minimum 23 inch thickness, the company sets the machine to average 26 inches for the batches of concrete.  The standard deviation is 1.75 inches.  They believe the thickness level of the machine’s concrete output can be described by the Normal model N(26,1.75)

a. Draw and clearly label this model according to the 68-95-99.7 rule.

b. What percent of the concrete roadway is under the minimum depth of 23 inches?

c. What is the first quartile (the cutoff depth for the bottom 25%) of the roadway depths?

2.  Copy Machine Repairs.  A manufacturer claims that lifespans for their copy machines (in months) have a mean of 42 months and a standard deviation of 7 months, and can be described by a Normal model N(42, 7).

a.  Draw and clearly label the model according to the 68-95-99.7 rule.

b.  What percent of the copiers are expected to fail before 36 months?

c.  The company is going to provide a warranty that will replace copiers which last less than a certain number of months.  How many months should their warranty cover if they only want to replace 10% of copiers?
